



Nome: _____

Data: _____ Punteggio: _____

$$\left(-\frac{1}{2}\right)^2 - \frac{3}{5} =$$

$$\left(\frac{1}{3}\right)^{(-1)} + \left(-\frac{2}{5}\right) =$$

$$\left(-\frac{1}{6}\right)^{(-2)} - \left(-\frac{3}{5}\right) =$$

$$\left(-\frac{1}{3}\right)^{(-1)} - \left(-\frac{3}{4}\right) =$$

$$\left(-\frac{3}{4}\right)^{(-1)} + \frac{1}{3} =$$

$$\left(-\frac{1}{6}\right)^{(-2)} - \frac{1}{4} =$$

$$\left(\frac{2}{5}\right)^2 - \frac{2}{5} =$$

$$\left(\frac{1}{4}\right)^{(-1)} + \left(-\frac{1}{5}\right) =$$

$$\left(\frac{1}{5}\right)^2 + \left(-\frac{3}{5}\right) =$$

$$\left(\frac{1}{3}\right)^2 + \left(-\frac{1}{2}\right) =$$

$$\left(\frac{1}{6}\right)^0 - \frac{2}{5} =$$

$$\left(\frac{2}{5}\right)^{(-1)} + \left(-\frac{1}{6}\right) =$$

$$\left(-\frac{3}{5}\right)^{(-2)} - \frac{3}{4} =$$

$$\left(-\frac{1}{2}\right)^{(-2)} + \left(-\frac{1}{5}\right) =$$

$$\left(-\frac{1}{4}\right)^2 + \left(-\frac{1}{5}\right) =$$

$$\left(\frac{1}{2}\right)^2 - \frac{1}{2} =$$

$$\left(\frac{1}{2}\right)^0 + \frac{1}{2} =$$

$$\left(-\frac{2}{5}\right)^{(-2)} - \left(-\frac{2}{5}\right) =$$

$$\left(-\frac{1}{4}\right) + \frac{3}{5} =$$

$$\left(\frac{3}{4}\right)^2 + \left(-\frac{3}{5}\right) =$$



Nome: _____

Data: _____ Punteggio: _____

$$\left(-\frac{1}{2}\right)^2 - \frac{3}{5} = \left(-\frac{7}{20}\right)$$

$$\left(\frac{1}{3}\right)^{(-1)} + \left(-\frac{2}{5}\right) = \frac{13}{5} = 2\frac{3}{5}$$

$$\left(-\frac{1}{6}\right)^{(-2)} - \left(-\frac{3}{5}\right) = \frac{183}{5} = 36\frac{3}{5}$$

$$\left(-\frac{1}{3}\right)^{(-1)} - \left(-\frac{3}{4}\right) = \left(-\frac{9}{4}\right) = \left(-2\frac{1}{4}\right)$$

$$\left(-\frac{3}{4}\right)^{(-1)} + \frac{1}{3} = (-1)$$

$$\left(-\frac{1}{6}\right)^{(-2)} - \frac{1}{4} = \frac{143}{4} = 35\frac{3}{4}$$

$$\left(\frac{2}{5}\right)^2 - \frac{2}{5} = \left(-\frac{6}{25}\right)$$

$$\left(\frac{1}{4}\right)^{(-1)} + \left(-\frac{1}{5}\right) = \frac{19}{5} = 3\frac{4}{5}$$

$$\left(\frac{1}{5}\right)^2 + \left(-\frac{3}{5}\right) = \left(-\frac{14}{25}\right)$$

$$\left(\frac{1}{3}\right)^2 + \left(-\frac{1}{2}\right) = \left(-\frac{7}{18}\right)$$

$$\left(\frac{1}{6}\right)^0 - \frac{2}{5} = \frac{3}{5}$$

$$\left(\frac{2}{5}\right)^{(-1)} + \left(-\frac{1}{6}\right) = \frac{7}{3} = 2\frac{1}{3}$$

$$\left(-\frac{3}{5}\right)^{(-2)} - \frac{3}{4} = \frac{73}{36} = 2\frac{1}{36}$$

$$\left(-\frac{1}{2}\right)^{(-2)} + \left(-\frac{1}{5}\right) = \frac{19}{5} = 3\frac{4}{5}$$

$$\left(-\frac{1}{4}\right)^2 + \left(-\frac{1}{5}\right) = \left(-\frac{11}{80}\right)$$

$$\left(\frac{1}{2}\right)^2 - \frac{1}{2} = \left(-\frac{1}{4}\right)$$

$$\left(\frac{1}{2}\right)^0 + \frac{1}{2} = \frac{3}{2} = 1\frac{1}{2}$$

$$\left(-\frac{2}{5}\right)^{(-2)} - \left(-\frac{2}{5}\right) = \frac{133}{20} = 6\frac{13}{20}$$

$$\left(-\frac{1}{4}\right) + \frac{3}{5} = \frac{7}{20}$$

$$\left(\frac{3}{4}\right)^2 + \left(-\frac{3}{5}\right) = \left(-\frac{3}{80}\right)$$